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1. Determine whether the following series converge absolutely, converge conditionally, or
diverge.

Soln:  (4)
o= 29,
Note: Z_on 15 ahsolutely con RNF if 2_lon\ 15
Y  EX n=l
CONKRIGONt -
o2
W an= 1Y, den  consiwer 2 (anl
“3[.,_ =\
whre lahl= i
n3l2

= Ts Yo (WLC2] N QN
(| 3 Ao Yy Cen %Q’\

(&) N
b) W an= @  dea Zlenl= Z_ L

15 dia—
na n=! an='y a2
qunt by p-serfes  wesk- ((p=th < L)
LR
=) 2- an

o not  clsolucel CONITG N -
n=1 - J



Mote: The altemarthg SesfiRs kest
Suppose Yonl Ty a sequince  whose terms  sak’y,
for sowe  posTrive Tatwer R,
1) on 0o 20 N
@-\ (Qt\k\\él&h\ for w> N
(3) lm@ an =0

(1) am-an €O Mn Zd

() Siace (anl= 1_ and \n & Vaot! ¥npa

\[a
we hove lantl= L ¢ lan)= 1 Nnyo
el (g
(3) Stac e iﬂ'v\ l(lv\l= 41\v\ L =0 y wWe  have
00 N
(,('\(\t\ an .:O
A ©
So lay Alternoking gerwes kest; 2 an Ty CONJU GRA-
n=|
L)
= 2 " 5 Condttionally OV Nt
n=i nflv
o A
Mote:  Z2- an  Conditomally conu i Z'_' aq 8 Convasgent
nN=| 0N\=

(22X}
but > Jan| dfow gant -
=



() W apn= @s(nT) (n®-301+43) = O™ (03 -302 43)
> 413 203 43

Constier Gon = (@n)® =3 (an)*+3

2 (2n)® +13

ond b\’\l\ Qapn =
n= 0J 2

fleo consider agpy and U gy = =L
noco 2
7 =
=) U~ an  dne ha~ce an Ty divegent b
h~th teran tRst.

Mote:  (3). cond™on Mo{— AST ® not sornfred
for Hu. sSURs Z an. So AST soys NSty

n=1\

()
aboutr  Convepence [ divongence of  Z -
n=|




2. For the following series, find the smallest integer n that ensures that the partial sum s,
approximates the sum s of the series with |error| = |s — s,| < 0.001.
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4. Determine the center, radius and interval of convergence of each of the following series.
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